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▼記述問題の部▼ 
下記の英文を読み、それに続く日本語部分を英訳してください。 
 
With an increasing concern regarding climate change, electric power generating 
stations employing fossil fuels are being retrofitted or built with technologies to 
mitigate carbon footprint. However, currently there is no carbon neutral electric power 
generation facility employing fossil fuels. This has turned attention to the use of nuclear 
power for base load power generation (BLDG). However, nuclear power generation is 
considered by many to be a high-risk option as witnessed by disasters such as 
Chernobyl and Fukushima Daiichi in Japan. 
また、最近の電気自動車の急速な発展により、近い将来化石燃料の需要が減少し、価格が下落

することが予想される。従って、原子力に依存することなく、しかも化石燃料を用いながらも二酸化

炭素の大気中への放出を実質的にゼロに抑える発電所への需要が高まっている。 
 
 
 
回答： 

 
 
 



■選択問題の部■ 
 
問 1. 次の英文のそれぞれについて最も近い意味の和訳文を選びなさい。 
（1） 
The invention is obvious from known art. 

 

 
（2） 
Creators can be given the right to prevent others from using their inventions, designs or 
other creations. 

 
（3） 
Nuclear power generation is being reviewed as it does not produce greenhouse gases. 

 
（4） 
It is not permissible to employ the definite article "the" when introducing an element in 
the body of a claim for the first time. 

 
 
 
 
 
 



（5） 
Registering a trademark is an excellent step to take to protect your name or logo. 

 
 
（6） 
A capacitor is connected to a node between the coil and the diode. 

 
 
（7） 
Fuel economy is the amount of fuel required to move the automobile over a given 
distance. 

 
 
（8） 
A claim must particularly point out and distinctly claim the subject matter. 

 
（9） 
Exhaust emissions of internal combustion engines constitute a major source of air 
pollution throughout the world. 

 
（10） 
A solar cell or photovoltaic cell is a device that converts solar energy into electricity by 
the photovoltaic effect. 



 
問 2. 次の英文のそれぞれについて明らかに誤った和訳文をひとつ選びなさい。 
（1） 
Fig. 1 is a top plan view of an embodiment. 

 
（2） 
Direct current and Alternating current are common terms used to describe the two 
forms of electricity we use every day in countless different situations. 

 
（3） 
A copper content not less than 1 wt% provides the expected result. 

 
 
（4） 
An applicant is best advised to refrain from disclosing any in-house prior art. 

 
（5） 
The meaning of every term used in a claim should be apparent from prior art or from 
the specification and drawings at the time the application is filed. 



 
（6） 
A description of a machine could be copyrighted, but this would not prevent others from 
making and using the machine. 

 
（7） 
Since carbon dioxide is a greenhouse gas, it traps the thermal energy that reaches the 
surface of the earth and prevents it from being transmitted back into space. 

 
（8） 
A complete description, not a mere suggestion, of the subject matter for which a patent 
is sought is required. 

 
（9） 
Products to be used for therapeutical methods are not excluded from patentability. 

 
（10） 
Fig. 1 is a longitudinal sectional view of an embodiment. 



 
 
問 3. 次の日本文のそれぞれについて最も近い意味の英訳文を選びなさい。 
（1） 
この発明はこれらの問題を完全に解決できないまでも抑えることはできる。 

 
（2） 
出願人は、発明を実施するための最良の形態を開示しなければならない。 

 
 
（3） 
レアメタルは自動車や携帯電話などの製品に用いられているがその値段は近年大幅に変動して

いる。 

 
（4） 
発明が特許されるためにはそれが新規なものでなければならない。 

 
（5） 
産業用ロボットがいろいろな分野で広範に利用されるようになっている。 



 
 
（6） 
交通渋滞はますます深刻な問題となってきた。 

 
（7） 
PCT 国際出願制度は発明の商業的実施の是非について決定するためのより長い時間的猶予を
与える。 

 
（8） 
本発明は沸騰水型原子炉の格納容器に関する。 

 
（9） 
図３は図２に示す装置の分解斜視図である。 

 
（10） 
この出願は引例１に開示された発明と較べて新規性がないので拒絶されるべきものと認める。 

 



問 4. 次の日本文のそれぞれについて明らかに誤った英訳文を一つ選びなさい。 
（1） 
コンデンサーは交流は通すが直流は通さない。 

 
（2） 
プレストレストコンクリート製の枕木は軌道をより強固にしメンテナンスを容易にする。 

 
 
（3） 
フォークリフトは、物品をある場所から他の場所に輸送するためにいろいろな環境下において 
使用される。 

 
（4） 
これらのふたつの手法を用いさえすればこの目的は十分達成される。 

 
（5） 
最大圧力は気体の温度によって変わり、気体の温度ほどではないが初期圧力によっても 
変わる。 



 
（6） 
PCT国際出願の各国内移行用の明細書は原文に忠実に翻訳しなければならない。 

 
 
（7） 
産業財産権には特許、商標、意匠が含まれる。 

 
 
（8） 
侵害被疑製品は文言侵害は構成しないが均等論下での侵害の可能性はある。 

 
（9） 
この関連技術については文献１に開示されている。 

 
 
 



（10） 
この目的は、現在利用可能な手法をもってしてはまだ十分に達成されていない。 

 
 

以上 


